111 &27 413 FERRBRA? w1 X

L TR BR/PERFP/ARRPEEREFL

L1 gigbriss o174 P ¥

(DHFESN  IFRABLE | HRREFFIRPIEFANE > &
PrEET AR

(2) B pumeftd i REFER A #4@4;;”5;1«;%&%3@ "¢
B LA d e 1 afEs) 0 3 NI 2

2.1 "yl GEs 2 KRB RFRES:

(1) Bxgm: %Jﬁgﬁ:ﬂﬁfﬁ# 1,419 % » Jis3+ 339 4 o A o

(2) BEREEHE 1/l a0 wypE | =

3. ATEE L ISIT S

(DAR A F - a4 B B gy @Rk
i‘s“c‘/‘%iﬁ’S

(2) f3rf 2 TIR BT B bk > % 127 % -

(3) # A RIRHE vF > £ 156 4 & -

(D) 75 FIERT B M 91,288 4 = -

417 EREEP AP AR ET RS T E 2 R0 ﬁﬁfﬁ:% %8

5.l HIfAE b ARrigim 2FMHEMEF T AL 2= > F&20F 2
B £ A3 o

6.1 7 p2iph £ ¥ Bk £

2 s - CRAE (1) BHHIL: 70§ e L 42 1351 4 > f5r 204 ¢ > = 35 184 4 > 4R

@)

811 A ABBEFFEHS BEMIRT F2A 0 35165 4 =«

(2) GDS-15 & # : GDS-15 é#+ 192 %+ > A G FE =T L2 BEHRL
IR A FR R LA .

T1" #ARARERE Ly 58

(D17 22 ptaesypia® 2022 #dgdmpriad FE v FELR, > £
150 « ‘ZL%C °

(2)1 % 22 p sy 2022 # WS+ ¢ TR 2B 7 %5534 youngy
FagEEd > £ 186 4 %4e -

8.1 " Huivi:

OESEE TS ENE R S TS S E YR ST Y 2
e s ek, o

D17 6p s+ wrthaifht TAFEIHL BHHMY 220 Ak ¢
B, -

(3172 6p ~13p ~20p 2 25 p S4e DA FURSRE ARG AP L
Bl e R ek, o

CORRR VI S5 SR RN Ll R R L 5 T
wL

(B)1 7 15 p %2 16 p et PHR H E% AT 0% L LA R4 iR plEd o




TR

CERR/PRFAY/ARRPEEREFL

£ 318 % 4de o

(6)1 7 20 P 4 A EH=HBER(%- FAFFP S)g o

(Ml ErrRFRHFEmE1l Y 21 p e P g o

(8)1 % 24p %4k TheB THFERAHREISL BT 2 & F750
wmisFRAEHR, -

(D1 P 2p237AFSEALARETI X 2 -

(10) 12 31 p iR OdE  aEZivz W% W7 L § 14
BBl o1 25 p AW EAX T 20 | pE o

1.2 " 4 g E 852 617 AP E8:

(D EERSED I FFA4BLE | TEREFTIRBHERANE -

(2) % pRmEfEd Pt FER LTI BARR LRMEFAEFE
o

2.2 " LR 8 RIS

() Felbith 2L AEDTPL £ [ ¥ o

v g () ARFHE TRRL(2/14) Ak 2 (2/18) ~ feh 2 (2/19) ~ g8 2
27) (2/19) Eix2(2/20) ~ FML(2/21) ~ 2L (2/22) ~ 6 [ 2 (2/24)
FEE > £ 8 H=x o
3.2 "R AR R T RES  HHEEHBMIRTR -
428w i s
(D27 21 p %42 hvliFiid € -
(2)2 % 26 p 742 (T H &5 24 B RE (- 24 fifgs b M
AT
1.3 % 7#52 Bk 8 e PRIS-:
(1) LBt t B oA Doy £ ] =t o
X ke (2) AL e - * 37102 (3/5) ~ M2 (3/5) ~ 24,2 (3/7) ~ %32
(3%) (3/8)~ 522 (3/1D) ~ o4t 2 (3/12) ~ 463 2(3/12) ~ /M2

(3/17)~ #22(3/19) ~ &42 (3/20) ~ 246 2 (3/21) ~ 24&
2 (3/26)742 > £ 12 3= -




